
 

GSKLB12A

SV047

1-1/2" CONNECTION ADAPTOR PLATE

1-1/2" CONNECTION -BOTTOM PLATE
GSKLB12 GASKET - BOTTOM PLATE 

GASKET - ADAPTOR PLATE 

FS31400
FSW31068
FSN31 5/16-18 ESNA LOCK NUT

5/16-18 X 4" LGTH HEX CAP SCREW
5/16 SAE FLAT WASHER

FSW25050A
FSW25075

1/4" MED. LOCK WASHER
1/4-20 X 3/4" LGTH HEX CAP SCREW

SV0030F SUPER HANDLE LINK
FS25100A 1/4-20 X 1" LGTH HEX CAP SCREW

1/4-20 ESNA LOCK NUTFSN25
SV030C SLIDE VALVE POSITION HANDLE

POSITION LOCKING KNOBSV005C
FSN25D 1/4-20 ESNA HEX JAM NUT (THIN)
FS16050 8-32 X 1/2" LGTH SOCKET HEAD CAP SCREW
SV014A SUPER S.V. ROD OUTER SPACER

SUPER S.V. MULTI-HOLE END CAPSV002B
SV001E SUPER S.V. OUTER PLUNGER ROD
SV014B SUPER S.V. WASHER SPACER
SV006C 2" RUBBER SEAL CUPS
SV006D SUPER S.V. SEAL CUP HUB
SV001D SUPER S.V. INNER PLUNGER ROD

SUPER S.V. SEAL CUP WASHERSV006E
FSW25050 1/4" MED. S.S. LOCK WASHER
FSX25075 1/4-20 X 3/4" LGTH S.S. HEAX CAP SCREW

SV003K
SV046

1-1/2" ALUMINUM REMOTE S.V. BODY

1
1
3
1
1
1
1
2
2
1
1
1
1

11
2
3
4
5
6
7
8
9
1 0
1 1
1 2
1 3
1 4
1 5
1 6
1 7
1 8
1 9
2 0
2 1
2 2
2 3
2 4
2 5
2 6
2 7

2
2
8
8
1
1
4
4
4
1
1
1
1

11
2

3

4

5

6

7

8

10

9

11

12

13
14

15

16

17

18192021222324

252627


